2-M10X1.5 TAP,DP18

SEP50506 (56POLE)

2-M10X1.5 TAP,DP18
(SIDE STOPPER)

15

170 280 170

3- ¥ 18 DRILL,THRU 28 282 282 28 4-M12X1.75 TAP,DP22

50 15

(SIDE STOPPER)

| |

026 C'BORE,DPZON\ (EYE BOLT)
| |
| |

To]
(32}

100

3 Alellelle]le oflel|lelle]l
ofleo|leo]]le oflel|lelle]l
= re oI eEE | & ¢
Alellelle]le oflel|lelle]l
2 lellelle]le oflel|lelle]l

100

POWER CONNECTOR 45 250 30 250 45 56- M8 X1.25 TAP,DP8
(EX.POLE)

620

2-M10X1.5 TAP,DP18
(SIDE STOPPER)

170 280 170

To]
~—

)
@
QY
50

90 530

15 50 2-M10X1.5 TAP,DP18
(SIDE STOPPER)
o
o
o
o
(ap)
)
o
o
i n]
(ap]
i

17

15

11

Detail A (2:3)

(SIDE SLOT)

SURFACE

FINISH /\/(V)(W)(VW)

APPROVED

TITLE

SEP5050600-HL_ASS'Y

1

GENERAL TOLERNCE GENERAL
(MACHINING) CHAMPER

OVER  TO HEAT
-6 0.1

6 - 30 0.2
30 - 120 0.3
120 - 315 0.5

315 - 1000 0.8
1000 - 2000 1.2 SURFACE
2000 - 4000 2.0 TREATMENT

SUFFIX MARK SUBJECT DATE NAME CHECKED

C1.0 CHECKED ASS'Y N/A TLON/A
e G NJA | oo ;T: r N/A scae| 1/5
momer|  N/A [osee | HS.CHO oo o | SEP5050600-HL |1/1[>@)
N/A oA When N/A éjg.ﬂopﬂ X

A2(597x420) [80] 37 &EAH2 IH NFUS AW HOIH, F'YFJYYN N GYHIUY B20) U S S ZYOI0 AH HJ0| Iy B2 (YO0| &= FHUIY, NYIR SS ZYOtn US £ USUHD. 2 =HO| 2 YHY WL TE= ARE LUO= MI3NMOIH S, BIX, SNt E= NtE0ts RS YHOI aNYUL.



